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INTRODUCTION
|

The Arkansas Comprehensive Testing, Assessment, and Accountability Program (ACTAAP) includes
Mid-Year and Spring Algebra End-of-Course Examinations for students completing Algebra I or the equivalent
for high school graduation credit. In addition to the Mid-Year and Spring administrations, a Fall Algebra I
End-of-Course Examination and Fall and Spring administrations of the Online Alternative Test for Algebra I
were offered for students who were retesting in Algebra I. The examinations consist of questions that directly
assess student knowledge. The fall, mid-year, and spring examinations consist of both multiple-choice and
open-response questions while the online examinations consist of only multiple-choice questions. The Arkansas
Algebra I Mathematics Curriculum Framework is the basis for the development of the Algebra I End-of-Course
Examinations.

In January or May 2012, all students who had completed or were completing the required course work for
Algebra I for high school graduation credit participated in the Mid-Year or Spring Algebra I End-of-Course
Examination. Students retesting in Algebra I were also provided the opportunity to test with the Fall, Mid-Year,
and/or Spring Algebra I End-of-Course Examination and/or the Online Alternative Test for Algebra I. Results
of the Algebra [ End-of-Course Examination will be provided to all students, schools, and districts to be used as
the basis for instructional change.

This handbook provides information regarding the scoring of student responses to the Algebra I open-response
items. It describes the scoring procedures and the scoring criteria (rubrics) used to assess student responses.
Copies of actual student responses are provided, along with scores given to those responses, to illustrate how
the scoring criteria were applied to Algebra I open-response items.

Additional information about the Algebra I End-of-Course Examination is available through the Arkansas
Department of Education. Questions can be addressed to the Office of Student Assessment at 501-682-4558.



ScoRING STUDENT RESPONSES TO OPEN-RESPONSE ITEMS
|

The multiple-choice and open-response test items for the Algebra I End-of-Course Examination are developed
with the assistance and approval of the Algebra I Content Advisory Committee. This committee is comprised of
active Arkansas educators with expertise in Mathematics education. The Algebra I Content Advisory Committee
develops and reviews multiple-choice and open-response items to ensure that they reflect the Arkansas Algebra [
Mathematics Curriculum Framework.

While multiple-choice items are scored by machine to determine if the student chose the correct answer from four
options, open-response items must be scored by trained “readers” using a pre-established set of scoring criteria.

READER TRAINING

Readers are trained to score only one content area. Qualified readers for the Arkansas scoring will be those with
a four-year college degree in English, language arts, education, mathematics, science, or related fields.

Before readers are allowed to begin assigning scores to any student responses, they go through intensive training.
The first step in that training is for the readers to read the Algebra I open-response items as they appear in the
test booklet and to respond—just as the student test takers are required to do. This step gives the readers some
insight into how the students might have responded. The next step is the readers’ introduction to the scoring rubric.
All of the specific requirements of the rubric are explained by the Scoring Director who has been specifically
trained to lead the scoring group. Then responses (anchor papers) that illustrate the score points of the rubric
are presented to the readers and discussed. The goal of this discussion is for the readers to understand why a
particular response (or type of response) receives a particular score. After discussion of the rubric and anchor
papers, readers practice scoring sets of responses that have been pre-scored and selected for use as training
papers. Detailed discussion of the responses and the scores they receive follows.

After three or four of these practice sets, readers are given “qualifying rounds.” These are additional sets of
pre-scored papers, and, in order to qualify, each reader must score in exact agreement on at least 80% of the
responses and have no more than 5% non-adjacent agreement on the responses. Readers who do not score within
the required rate of agreement are not allowed to score the Algebra I End-of-Course Examination responses.

Once scoring of the actual student responses begins, readers are monitored constantly throughout the project to
ensure that they are scoring according to the criteria. Daily and cumulative statistics are posted and analyzed, and
Scoring Directors or Team Leaders reread selected responses scored by the readers. These procedures promote
reliable and consistent scoring. Any reader who does not maintain an acceptable level of agreement is dismissed
from the project.

ScoORING PROCEDURES

All student responses to the Algebra I End-of-Course Examination open-response test items are scored
independently by two readers. Those two scores are compared, and responses that receive scores that are non-
adjacent (a “1” and a “3,” for example) are scored a third time by a Team Leader or the Scoring Director for
resolution.

On the following pages, open-response items are presented as they appeared in the 2012 Mid-Year and Spring
Algebra I End-of-Course Examinations. The specific scoring rubric for each item and annotated responses for
each score point of the rubric follows. The goal is for classroom teachers and their students to understand how
responses are scored. It is hoped that this understanding will help students see what kind of performance is
expected of them on the Algebra I End-of-Course Examination.
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ITEM A—2012 ALGEBRA I

A. Roger has a lawn care business and charges a flat fee of $20 dollars plus x dollars per hour to mow yards. It
takes Roger 3 hours to mow one yard, 2 hours to mow a second yard, 1 hour to mow a third yard, and
4 hours to mow a fourth yard.

1. Write four different expressions, each expression representing Roger’s charge for one of the yards.

2. Using the four different expressions from Part 1, write an expression that represents the sum of the
charges for the four different yards. Show your work.

3. IfRoger earns $175 mowing the four yards, how much does he charge per hour?

BE SURE TO LABEL YOUR RESPONSES 1, 2, AND 3.

Item A Scoring Rubric—2012 Algebra I

Score | Description

The student earns 4 points. The response contains no incorrect work.
Label of “$” is given with answer in Part 3

The student earns 3 — 3% points.
The student earns 2 — 2% points.

The student earns '2 — 1% points, or some minimal understanding is shown.

The student earns 0 points. No understanding is shown.

Blank — No Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)

R || = N |wW| &




ITEM A SOLUTION AND SCORING—2012 ALGEBRA |
|

SOLUTION AND SCORING

4 points possible:

Part Points

1 2 points possible:

2 points: 4 Correct expressions: 20+3x  for 1* yard
20+2x  for 2™ yard
20+ x for 3" yard
20+4x  for 4™ yard

OR

1 point: 3 Correct expressions

or
4 Correct equations
or

The correct expression for 1 specific yard written correctly 4 different ways

2 1 point possible:

Y point: Correct answer:  80+10x
or correct answer based on all 4 expressions or equations in Part 1
Note: Do not give credit for an equation, if expressions are used in Part 1

AND
Y5 point: Correct procedure is shown and/or explained
Give credit for the following or equivalent:
Work may contain one calculation or copy error
. 20+3x+204+2x+20+x+20+4x =80+10x
3 1 point possible:
1 point: Correct answer:  ($) 9.50

or correct answer based on an incorrect expression or equation in Part 2
truncated or rounded to the cent.




ITEM A SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |
|

Scork PoiInT: 4

Part 1 Points
“1* yard - $20 + 3x
. 2" yard - $20 + 2x
4 Correct expressions: 2
P 3" yard - $20 + 1x
4™ yard -$20 + 4x >
Part 2 Points
Correct answer: $80+10x Y
Correct procedure: Finds the sum of Part 1 expressions Vs
Part 3 Points
Correct answer: $9.50 1
Total Points 4

.o 2390+ 0x=115
®vd-3704 2.
S -804 T
o - 320+ \x

qh‘i'“d"’c?\bsf Uy

7. 330 % 2x -7 lawn
SQ0 + B -1 Yo
830 ¥ W -39 Wwn

T Y304 uEn W




ITEM A SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork PoINT: 3

Part1 Points
. “Expression #1
4 Correct expressions: 3x+$20" etc 2
Part 2 Points
Incorrect answer: 9x + $80 -
Correct procedure, with 1 3x+2x+x+4x =9x (calc. error) y
calculation error: 20+20+20+20=280
Correct answer, based on Part $10.56 1
2 expression: )
Total Points 3
— Expresgion " F.!P"‘?‘“ibﬁ “2 Ea g3ty 3 Frperssion e
i N - ] ,
Sxcao : 5, =
;Jl 1A% X !‘% fo Tm
e
B . X 20
<X [ 2o :
P 5 3
b ¢+

o
_“_,_%i— %0 .
X |

TL‘ (aa4"'] E?'E'NS—'Q‘*.'—':I"\. S c’.’l"} ?0.

- m R e o s
3 -l'::' k-4 I No.se up( CrAces agpmnawidy
s 1 10.5L PEr howr,



ITEM A SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |
|

Scork PoiInT: 2

Part 1 Points
4C . Expressions are not identified, but are in correct order from top to
orrect expressions: bottom 2
Part 2 Points
Incorrect answer: 8x+80 -
3x+20
+2x+20
Correct procedure, with 1 +1x +20 y
calculation error: +4x+ 20 2
8x+20
(calc.)
Part 3 Points
Incorrect answer: ‘ $11.90 -
Total Points 2%
3 Chorges
G S Q O 175 ?ugﬂ %
T %0 ﬂ }
|
AR\ nao e on
X § hous.
N ¥ 0 9%
$io



ITEM A SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Score PoinT: 1

Part 1 Points
| 4 Incorrect expressions: “20+hx >, ete...

Part 2 Points

Incorrect answers: “1"yard - 20+ 3x >, etc...

Missing procedure:

Part 3 Points
Correct answer: $9.50 1
Total Points 1

D d+hx
D+h X
h+X)+a0
30+ % (h)

@ 13y - A0+ 3%
Q‘jwara ~30+2.Y
3%yad - (1+%) 430
HONaA- 3ot X ()

&

;iﬁw (o) 420) 4 (otxte)
s E: Q% _ he thames
75 - 802 JOY- @%‘:TI $9.50 /1o

a5 = 10X




ITEM A SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |
|

Score Point: (

Part 1 Points
‘ 4 Tncorrect expressions: “20x+3h, ete...
Part 2 Points
20x  3h
Incorrect answers: “—+—=56.66", etc...
Incorrect procedure: Divides by coefficient of /
Part 3 Points
Incorrect answer: $25
Total Points 0

D 20Xy, | 90 ?7?“*1}3 = bo

3
Aot Gy
g.m(-\- u»h &*ah ":qu

B4 W

Ty
)Y Orrt fouvlh 2o
t Qbafjes o
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ITEM B—2012 ALGEBRA |

B. The nutrition facts for three different brands of chocolate cookies are listed below.

Nutrition Facts
Serving Size 2 cookies

Nutrition Facts
Serving Size 2 cookies

Nutrition Facts
Serving Size 2 cookies

Amount Per Serving

Amount Per Serving

Amount Per Serving

Calories_ _ _ _ _ _ __ 130 Calories_ _ _ _ _ _ __ 130 Calories_ _ _ _ _ _ __ 160
Calories from Fat_ _ _50 Calories from Fat_ _ _40 Calories from Fat_ _ _63
Total Fat_ _ _ _ _ _ __ 6g| |Total Fat_ _ _ _ _ _ _ 45¢g| |Total Fat_ _ _ _ _ __ _ 7g
Sodium. _ _ _ _ _ _ 80mg| [Sodium ______ 80mg| [Sodium______ 190 mg
Cookie #1 Cookie #2 Cookie #3

A marketing company wants to create a matrix that will compare the calories, calories from fat, total fat,
and the sodium per serving for the three brands of cookies.

1.

Construct one matrix that includes the data from all three nutrition tables. Be sure to include all labels.

The marketing company decides to compare Cookie #2 with Cookie #3. The company wants a
matrix that shows the differences in calories, calories from fat, total fat, and the sodium per serving.
Construct a matrix that displays these data. Be sure to include all labels.

The marketing company decides to also compare Cookie #2 with Cookie #3 for the differences in
calories, calories from fat, total fat, and the sodium per cookie. Construct a matrix that displays these
data. Be sure to include all labels.

BE SURE TO LABEL YOUR RESPONSES 1, 2, AND 3.

Item B Scoring Rubric—2012 Algebra I

Score | Description
4 The student earns 4 points. The response contains no incorrect work.
3 The student earns 3 — 3’ points.
2 The student earns 2 — 2% points.
1 The student earns 2 — 1% points, or some minimal understanding is shown.
0 The student earns 0 points. No understanding is shown.
B Blank — No Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)

11



ITEM B SoLUTION AND SCORING—2012 ALGEBRA |

SOLUTION AND SCORING

4 points possible:

Part Points

1 2 points possible:
2 points: Correct and complete matrix:
#1 #2  #3
Calories 130 130 160
Calories from Fat | 50 40 63
Total Fat 6 45 7
Sodium 80 80 190
or
Calories Cal. from Fat Total Fat Sodium
#1 § 130 50 6 80
#2 J 130 40 4.5 80
#3 ] 160 63 7 190
OR
1 point: Matrix contains 1 copy error but is otherwise correct
or

1 or more labels are missing, but matrix is otherwise correct

2 1 point possible:

1 point: Correct and complete matrix:
Diff. per Serving
Calories 30
Cal. From Fat | 23
Total Fat 25
Sodium 110
or

Calories Cal. from Fat Total Fat Sodium

Diff. per Serving | 30 23 2.5 1o |

or
Diff. per Serving
#2 #3

Calories 130 160

Cal. from Fat || 40 63

Total Fat 4.5 7

Sodium 80 190

12



ITEM B SOLUTION AND SCORING—2012 ALGEBRA |

Part Points
or
Diff. per Serving
Calories Cal. from Total Sodium
Fat Fat
#2 Q1 130 40 4.5 80
#3 ] 160 63 7 190
OR
Y point: 1 or more labels are missing, but matrix is otherwise correct
or
1 element in matrix is incorrect but labels are correct
3 1 point possible:
1 point: Correct and complete matrix:
or correct matrix based on matrix given in Part 2
Diff. per Cookie
Calories 15
Cal. From Fat | 11.5
Total Fat 1.25
Sodium 55
or
Calories Cal. From Fat Total Fat Sodium
Diff. per Cookie | 15 11.5 125 55 |
or
Diff. per Cookie
#2 #3
Calories 65 80
Cal. from Fat § 20 31.5
Total Fat 2.25 3.5
Sodium 40 95
or
Diff. per Cookie
Calories Cal. from Total Sodium
Fat Fat
#2 || 65 20 225 40
#3 ] 80 31.5 3.5 95
OR
Y point: 1 or more labels are missing, but matrix is otherwise correct
or
1 element in matrix is incorrect but labels are correct

13



ITEM B SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Score PoinT: 4

Part 1 Points
‘ Correct answer: Correct matrix appropriately labeled 2
Part 2 Points
Correct answer: Correct matrix appropriately labeled 1
' Finds difference in nutrition facts per serving for cookies 2 and 3
Part 3 Points
Correct answer: Correct matrix appropriately labeled 1
) Finds difference in nutrition facts per cookie for cookies 2 and 3
Total Points 4

Cooie * 142 03
Calories [ 130 1% KA]
Cal fgm&d) 50 40 673
Yotal fat] & 45 7
Sodium | g0 e0 MO

#2 #7 Total DE. per serv.

Z

Calord1e0 <10 C[ 20 )
(o Tat| @3 ~uo | [(F| 23
Tl 7-4.9] TF] 2.5

\q0-80 | 5| 10

#2 #2 ) - -
3. ¢(%0- bh" c‘rafqtlﬁl:ff per Cookie

(E ?;Z%.Gﬁ .. 'll'.f._:,
T{’qs-qq 1:;': 55

-
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ITEM B SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork PoINT: 3

Part1 Points
| Correct answer: Correct matrix appropriately labeled 2
Part 2 Points

Incorrect answer: Incorrect matrix
) Per serving difference for cookies | and 2 are used

Part 3 Points

Correct matrix appropriately labeled

Correct answer: . . . o . .
W Finds difference in nutrition facts per cookie for cookies 2 and 3

1

Total Points 3

‘ tonhi roa e
w2 g

3
[Qﬁbr‘-ﬁ 130 190\

rplores Fepe Bk &b 7] 53
Tl BH ¢ w7
sod iwml 80 B0 19D

#1 #2 dibberence
Fo ¢ [136] £ 3o tfo
@fﬂ ip '_ﬂ Yo | _ Mo
Tf} B 45| -~ TS
s [80) 4] 6o 5le

@ #73 $#2 f“;EereM&

cfeo} ¢fas]  Cf1s]
c§F las | H} 20 cH g
Teles | M2as)o v5 |rn2g}
19 b0 :
_.9 1__ < _Egi
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ITEM B SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork PoiInT: 2

Part 1 Points
‘ Correct answer: Correct matrix appropriately labeled 2
Part 2 Points

Partially correct matrix

Partially correct answer: All elements are correct. “Difference” label is missing

¥

Part 3 Points

Incorrect matrix
Difference in per serving for cookies 1 and 2 is given

Incorrect answer:

Total Points 2%

D ~@l. (ALEomE ot £ sedire)
(_l 120 HD o 0 ]

(tlpo o us 20
CI]wo  ¢p2 7 lﬁ‘o

?-_) Cal (Mo forf -su:l

1> 15 noj

(Al Bome ot s

@ _
2 B) \o e
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ITEM B SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scorke Point: 1

Part 1 Points

Incorrect matrix
Incorrect answer: 1" 3 elements are sums of nutrition facts per serving for all 3 cookies. -
4™ element is sodium content of cookie 3

Part 2 Points

Correct matrix appropriately labeled

Finds difference in nutrition facts per serving for cookies 2 and 3 !

Correct answer:

Part 3 Points

Incorrect matrix
Incorrect answer: . . . . S -
Difference in per serving rather than per cookie matrix is given

Total Points 1

Nipivor Focts

1.
falels T Ty
Tovm |53
W-s
30]--.:-1 If-’to

The gt ap = W =36

|
g . - 1,5

N "‘f% ‘*I.: "1'-'!"
Sk -0 5 10~ 196 - -8
.Y () ’
7 comics o ”‘“‘)
B .

Calgr: 05
—="}¢
Chwnes fom ol -2%
TM ht 2.5
1=
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ITEM B SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Score Point: (

Part1 Points
‘ Incorrect answer: ‘ No matrices given in any part
Part 2 Points

‘ Incorrect answer: l

Part 3 Points

’ Missing answer: ‘

Total Points 0

D Calories - o
CQ) o eshrom M-

S
g CANBries 200 total for- Ny é’
caleces fram fay- |63 SOdium-3D
Yokal {o} - .S
odiom- 20O

3)
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ITEM C—2012 ALGEBRA |

C. Copy the table below into your answer document.

1. Complete the table in your answer document using values from the equation y = —x* +1.
2. On the grid provided in your answer document, graph the function containing the points in the table.
3. What is the vertex of the function? Show your work or explain your answer.

4.  If the function were reflected over the x-axis, what would be the coordinates of the new vertex?
Show your work or explain your answer.

BE SURE TO LABEL YOUR RESPONSES 1, 2, 3, AND 4.

Item C Scoring Rubric—2012 Algebra I

Score | Description
4 The student earns 5 points. The response contains no incorrect work.
3 The student earns 3% — 4 points.
2 The student earns 2 — 3 points.
1 The student earns '% — 1% points, or some minimal understanding is shown.
0 The student earns 0 points. No understanding is shown.
B Blank — Nq Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)
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ITEM C SOLUTION AND SCORING—2012 ALGEBRA |

SOLUTION AND SCORING

5 points possible:

Part Points

1 1 point possible:
1 point: Correct table, as shown below:
X y
=2 -3
-1 0
0
0
2 -3
OR
Y5 point: Table contains 4 correct values of y and 1 incorrect value of y
2 2 points possible:
2 points: Correct graph, as shown below:

Graph must include:

e Arrows on the parabola

e  Consistent intervals on both axes

e All points (from table) are correctly plotted and connected by a curve

OR

1 point: A partially correct graph with 1 or 2 errors
Ex: 1 point plotted incorrectly and arrows missing. (2 errors)
Inconsistent interval on 1 axis. (1 error)

20



ITEM C SoLUTION AND SCORING—2012 ALGEBRA I
|

Part Points

or

A non-linear graph of Part 1 table points correctly plotted and connected,
no other errors

Note: No credit is given for the graph of a line, line segment, or plotted linear points.

3 1 point possible:

1 point: Correct answer: (0,1)
or correct answer based on the graph in Part 2
Correct explanation is given:
Give credit for the following or equivalent:
° “It’s the highest point on the graph.”
° “Because there is no “x” term, in the function, the y value is

whatever the constant in the function is.”
OR
Y2 point: Correct answer: (0,1)

or correct answer based on the graph in Part 2
Work or explanation is incorrect, incomplete, vague or missing
Ex: “It’s the center of the parabola”

4 1 point possible:

1 point: Correct answer: (0,-1)
or correct answer based on the graph in Part 2
Correct explanation is given:
Give credit for the following or equivalent:

° “I just changed the sign on the y value”
° “The x-coordinate stays the same but the sign of the y value
changes.”
OR
Y point: Correct answer: (0,-1)

or correct answer based on the graph in Part 2
Work or explanation is incorrect, incomplete, vague or missing
Ex: “I just flipped it over.”
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ITEM C SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I
|

Scork PoiInT: 4

Part 1 Points
‘ Correct table: 5 correct values for y: {-3,0, 1,0, -3} 1
Part 2 Points
Correct graph: Consistent 1nte1.'va1s. Table points correctly plotted and connected by 5
curve. Arrows included.
Part 3 Points
Correct \'lert.ex with correct (0,1), “It is the maximum point on the parabola...” 1
explanation:
Part 4 Points
t vert ith t
Correct ve ©x With cotree (0,-1), “the equation wouldbe y =x” —1 and —1=0>—1." 1
explanation:
Total Points 5
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ITEM C SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

ScorE PoINT: 3

Part 1 Points
Correct table: 5 correct values for y: {-3, 0, 1, 0, -3} |
Part 2 Points
Correct graph: Default 1nterva.ls. Table points correctly plotted and connected by )
curve. Arrows included.
Part3 Points
Correct vertex with missing 0.1) y
explanation: ’ 2
Part 4 Points
Incorrect vertex: ‘ (-2,1) -
Total Points 3%

1
e

|

i
1

RNE

T
L
-
1

T

- b s b . e
""' !! 4 1 1 — i..l

i H T

T 1

1Y
-
1
+
|
1
e i
13
st e g

1
L
[ mm
B ) S — E G SLEE 1....{
1 e - - |
3) e Vestimx ‘ - amEE
— i - 1
of th i TS
l-s(ol) 1 i; i.l- . . |
e H T e T
| TE [ | ry Tt 11
‘_',_._-—-'—"_—.——- [-— 11T || } } : { ié:' 4.. J_-j

23



ITEM C SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I

Scork PoINT: 2

Part 1 Points
‘ Correct table: 5 correct values for y: {-3,0, 1,0, -3} 1
Part 2 Points
Correct graph: Default 1nterva}s. Table points correctly plotted and connected by 5
curve. Arrows included.
Part 3 Points
‘ Incorrect vertex: | 0,1 is not in ordered pair form -
Part 4 Points
‘ Incorrect vertex: | Table of multiple incorrect answers -
Total Points 3
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ITEM C SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork Point: 1

Part 1 Points

| Correct table: ‘ 5 correct values for y: {-3,0, 1, 0, -3} 1
Part 2 Points

| Incorrect graph: ‘ -
Part 3 Points

| Incorrect vertex: ‘ Multiple incorrect answers not in ordered pair form -
Part 4 Points

| Incorrect vertex: ‘ Incorrect values not in ordered pair form -

Total Points 1
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ITEM C SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I

Scork Point: 0

Part 1 Points
‘ Incorrect table: | 2 incorrect values for y {-3,0,1,2,5} -
Part 2 Points

‘ Incorrect graph: | -

Part 3 Points
‘ Incorrect vertex: | Incorrect values not in ordered pair form -

Part 4 Points
‘ Incorrect vertex: | Incorrect values not in ordered pair form -

Total Points 0
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ITEM D—2012 ALGEBRA I

D. A restaurant charges a reservation fee of $15 for its party room, plus $21.50 per person.

1. Write an equation in slope-intercept form showing what the total cost, y, would be for a group of
x number of people to hold a party there.

2. On the grid in your answer document, graph the equation from Part 1.
3. Ifthe bill was $445, how many people were at the party? Show your work or explain your answer.
4.  Describe how the graph from Part 2 would change if the reservation fee were raised to $25.

BE SURE TO LABEL YOUR RESPONSES 1, 2, 3, AND 4.

Item D Scoring Rubric—2012 Algebra I

Score | Description

The student earns 4 points. The response contains no incorrect work.
Graph is titled in Part 2.

The student earns 3 — 3% points.
The student earns 2 — 2% points.

The student earns %2 — 1% points, or some minimal understanding is shown.

The student earns 0 points. No understanding is shown.

Blank — No Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)

W o= |N|w| s
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ITEM D SoLuTioN AND SCORING—2012 ALGEBRA [
|

SOLUTION AND SCORING

4 points possible:

Part Points
1 1 point possible:
1 point: Correct equation: y =21.50x+15 or equivalent
OR
Y5 point: Correct expression in terms of x> 21.50x +15
2 1 point possible:
1 point: Correct graph
or correct graph of incorrect linear equation in Part 1
y
A
50 f
65
60
55
50 /
45 /
Z 40
< 35
E
S 30
20
15
10
5
» X
01 23456 78
Number of People
Graph must include:
e Consistent intervals on both axes
e Points plotted in the appropriate interval
e Ray or segment is drawn, or discreet points are plotted
e  All points must be in the 1* quadrant
Note: Graph title is required to a receive a score of “4”
OR
Y5 point: Graph contains 1 or 2 errors but is otherwise correct
Ex. Points or arrow extending line into 2™ or other quadrants
1 point plotted incorrectly
Inconsistent interval(s) on 1 axis (1 error) or both axes (2)
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ITEM D SoLUTION AND SCORING—2012 ALGEBRA |

Part Points

3 1 point possible:

Y, point: Correct answer: 20
or correct answer based on an incorrect linear equation in Part 1

AND

15 point: Correct procedure shown and/or explained
Work may contain a calculation or copy error
Give credit for the following or equivalent:

e 215x+15=445

21.5x =430
x=#
4 1 point possible:

1 point: Correct explanation

Give credit for the following or equivalent:

° “The graph with shift up 10 units.”

° “The y-intercept would now be (0,25) instead of (0,15)”
OR
Y2 point: Incomplete explanation

Ex. “The graph will shift up”
“The graph would be farther over to the left”
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ITEM D SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |
|

Score PoinT: 4

Part 1 Points
‘ Correct answer: y=15+21.50x 1
Part 2 Points
- - - —
Correct graph: Consistent intervals, all points plotted correctly in 1™ quadrant and |

connected by a ray, graph is titled

Part 3 Points
Correct answer: 20 people Ve
Correct procedure: y=15+21.50020 =445 (Guess and Check) P
Part 4 Points
Correct answer: “it would start at (0,25) and not (0,15).” 1

Total Points 4
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ITEM D SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoINT: 3

Part 1 Points
‘ Correct answer: ‘ y=21.50x+15 1
Part 2 Points
‘ Incorrect graph: ‘ Single point plotted -
Part 3 Points
Correct answer: 20 people were at the party Vs
Correct procedure: Subtracts the reservation fee from $445, then divides the difference y
© procedure: by the per person charge of $21.50 §

Part 4 Points

“...instead of crossing the y-axis at 15 it would now cross at 25. It 1
would change the y-intercept.”

Correct answer:

Total Points 3
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ITEM D SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I

Scork PoiInT: 2

Part 1 Points
‘ Correct answer: y=21.50x+15 1
Part 2 Points

Unknown intervals, graph entirely in 2™ and 3" quadrants and

Incorrect graph: incorrect based on default intervals

Part3 Points
Correct answer: x=20 people Ya
Correct procedure: Sets equation, from Part 1, equal to 445 and solves for x Ya
Part 4 Points
Incorrect answer: “...therefore it wouldn’t be as steep.”

Total Points 2
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ITEM D SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Score PoinT: 1

Part1 Points
‘ Correct answer: ‘ y=21.50x+15 1
Part 2 Points
‘ Incorrect graph: ‘ Unknown intervals, incorrect based on default intervals
Part 3 Points
Incorrect answer: 21 people -
Incorrect procedure: 445+21.50 -
Part 4 Points
Correct answer: “...the graph line would only get steeper.”
Total Points 1
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ITEM D SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I

Score Point: (

Part 1 Points
‘ Incorrect answer: ‘ 15x+21.50

Part 2 Points
‘ Incorrect graph: ‘ All points plotted incorrectly

Part 3 Points

Incorrect answer: 6696.50

Incorrect procedure: 15(445)+21.50

Part 4 Points

Incorrect answer: | “It would increase...”

Total Points 0
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ITEM E—2012 ALGEBRA |

E. The formula s =./30df is used to find how fast a car was traveling before an accident, where s = speed
(in mph), d = the length (in feet) of the skid mark left by the car, and /= the coefficient of friction (road
condition). Sophie, a police officer, must decide if the driver in a car accident was speeding in a 35 mph
speed zone. The car’s skid-mark length (d) is 76 feet. The coefficient of friction (f) is 0.80.

1. Write the equation Sophie needs to use, substituting in the values of d and £, to determine the speed
of the car before the accident.

2. Solve the equation in Part 1. Round your answer to the nearest tenth.
3. Was the driver speeding in the 35 mph speed zone? Show your work and/or explain your answer.

4.  If the skid mark had been 4 times longer, how many times as fast would the driver have been going
as compared to the speed found in Part 2? Show your work and/or explain your answer.

BE SURE TO LABEL YOUR RESPONSES 1, 2, 3, AND 4.

Item E Scoring Rubric—2012 Algebra I

Score | Description
4 The student earns 4 points. The response contains no incorrect work.
3 The student earns 3 — 3% points.
2 The student earns 2 — 2% points.
1 The student earns '2 — 1% points, or some minimal understanding is shown.
0 The student earns 0 points. No understanding is shown.
B Blank — No Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)
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ITEM E SoLuTION AND SCORING—2012 ALGEBRA |

SOLUTION AND SCORING

4 points possible:
Part Points
1 % point possible:
Y5 point: Correct equation: s =+/(30)(76)(0.80) or equivalent
2 1 point possible:
1 point: Correct solution: 42.7
Or correct solution to Part 1 equation that is incorrect due to 1 copy error
OR
Y point: Solution is correct but is not rounded to nearest tenth or is left in radical
form
3 ', point possible:
Note: Only give credit in Part 3 if some credit is received in Part 2
Y% point: Correct answer of “Yes,” stated or implied with correct explanation
Ex. 42.7>35 so yes the driver was speeding
4 2 points possible:

1 point:

AND

1 point:

Correct answer: 2 times as fast or twice as fast
or correct answer based on incorrect speed from Part 2

Correct procedure shown and/or explained
Work may contain a calculation or copy error
Give credit for the following:

o JBO)@)(76)(.8) = 2:/(30)(76)(.8)

or
° “Since he would leave a skid mark 4 times as long, I can take the
square root of 4 to get my answer.”
or
o J30)(4x76)(.8) = \/7296 = 85.4
85.4
2oy
42.7
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ITEM E SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Score PoinT: 4

Part 1 Points
‘ Correct answer: ‘ s=+/300760.80 72
Part 2 Points
‘ Correct answer: ’ 42.7 MPH 1
Part3 Points
Correct answer with “Yes the driver was speeding. He was going at a pace of 42.7 in a 35 y
explanation: MPH zone.” :
Part 4 Points
Correct answer: ““...the car would have to go twice as fast...” 1
Correct procedure: 7604 =304, 5 =~/30:304..80 5 =85.4166... 1
42.7:2=85.4
Total Points 4
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ITEM E SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork PoinT: 3

Part1 Points
| Incorrect answer: ‘ \3007600.80, (expression receives no credit) -
Part 2 Points
‘ Correct answer: ‘ 42.7 mph 1
Part3 Points
Correct a.ns?ver with “Yes, because she was going 42.7mph in a 35mph speed zone.” Vs
explanation:
Part 4 Points
Correct answer: “...going 2 times as fast...” 1

Finds speed of vehicle leaving a skid mark 4 times as long, divides

Correct procedure: new speed by original speed

1

Total Points 3%
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ITEM E SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |

ScoRrE PoOINT: 2

Part 1 Points
‘ Correct answer: ‘ s=+30076¢0.80 V3
Part 2 Points
‘ Correct answer: ‘ 42.7 mph 1
Part3 Points
Correct answer with “yes, the driver was speeding. At least 7 miles over the limit.” Y5
explanation:
Part 4 Points
Incorrect answer: “...going a whole mile faster.” -
Incorrect procedure: Finds speed of skid mark 4 feet longer not 4 times as long -

Total Points 2
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ITEM E SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scorke Point: 1

Part 1

Points
| Correct answer: ‘ s=/3007600.80 72
Part 2 Points
‘ Correct answer: ‘ 42.7 1
Part3 Points
‘ Incorrect answer: ‘ “...they were not speeding”
Part 4 Points
Incorrect answer: “...would have been speeding going 85.4 in a 35mph...”
Incomplete procedure: Finds speed of vehicle leaving a skid mark 4 times as long
Total Points ) §7)
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ITEM E SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA |
|

Scork PoinT: 0

Part 1 Points
D 76t
Incorrect answer: s = -
F 080
Part 2 Points
l Incorrect answer: ‘ 100mph -
Part 3 Points
‘ No credit: ‘ No credit is awarded without some credit earned in Part 2 -
Part 4 Points
Incorrect answer: “about 4 times faster.” -
Missing procedure: -
Total Points 0
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ITEM F—2012 ALGEBRA 1

F. Dave has the following quiz grades in his math class:

Dave’s Quiz Grades

Quiz # 1 2 3 4 5

Grade 84 74 82 90 80

Dave’s teacher is allowing students to retake any one quiz to earn up to 5 more points. Dave can earn the
full 5 points on any quiz.

1.  Will an increase of 5 points on any of these grades have a greater effect on the mean than an increase
of 5 points on one of the others? Explain your answer.

2. By how much will Dave’s mean grade change if he earns 10 more points on one of the quizzes?
Show your work or explain your answer.

BE SURE TO LABEL YOUR RESPONSES 1 AND 2.

Item F Scoring Rubric—2012 Algebra I

Score | Description
4 The student earns 4 points. The response contains no incorrect work.
3 The student earns 3 points.
2 The student earns 2 points.
1 The student earns 1 point, or some minimal understanding is shown.
0 The student earns 0 points. No understanding is shown.
B Blank — NQ Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)
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ITEM F SoLuTiON AND SCORING—2012 ALGEBRA |
|

SOLUTION AND SCORING

4 points possible:

Part Points

1 1 point possible:

1 point: Correct answer with correct explanation
Give credit for the following or equivalent:
Note:  The answer “No” may be stated or implied.
Note:  Examples may or may not be included. If examples are included,
they must be correct.
Note:  No credit is given for “No” with vague or missing explanation.
Ex: “No. Five points on any quiz will increase the sum of the
scores by 5 points and therefore have the same effect on
the mean.”
Ex: “I’ll increase the 1% score by 5:
89+74+82+90+80=415
415+5=283
I’ll increase the last score by 5:
84+74+82+90+85=415
415+5=83
So the effect is the same.”
Ex: “If I add 5 points to the 1* score, I get 415 when I add up
the 5 scores.
If I add 5 points to the 2™ score, 1 still get 415, so I know
that the mean will be the same for both.”

2 3 points possible:

3 points: Correct change in mean: 2
Correct procedure is shown and/or explained:
Give credit for the following or equivalent:

° Change is found by calculating both means:
84 +74+82+90+80
Ex: =82
5
84 +74+82+90+90
5 =84

“So the change is 2 points.” (84 —82 = 2) is not required

Note: “10” may be added to any score or added individually.
Note: Work for the mean of 82 may be in Part 1.

° Change is found by finding the difference of the means:
Ex:
[(84+74+82+90+80+10) (84+74+82+90+80)} )
5 5
° Change is found by finding the average of the increase:
Ex: “The only difference in the total is 10, so I can

average the increase to find the amount that the mean will
change. 10+5=2"

OR
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ITEM F SoLuTiON AND SCORING—2012 ALGEBRA |
I

Part Points

2 points: Amount of change is incorrect or not specified
Correct and complete work is shown and/or explained

84+74+82+90+80
Ex: s =82

84 +74+82+90+90 B
5

84

Or

Amount of change is incorrect due to 1 calculation or copy error
Correct and complete procedure is shown and/or explained

Or

Correct change in mean: 2
Correct and complete procedure is shown and/or explained for one
mean. For the other mean, procedure is missing or is incomplete,
but not incorrect.
Ex: 84+74+82+90+80 = 410, 410+5, mean = 82,
84+74+82+90+80+10 = 420, mean = 84
(divide by 5 not shown).

OR

1 point: Correct change is given
Procedure is missing for both means or is incomplete for both means.

Note: If Part 2 is done using 5 more points instead of 10 more points, give credit. (The prompt header
states “the teacher is allowing ... up to 5 more points”.)

Note: If Part 2 is done using 15 more points instead of 10 more points, give credit. (The prompt in
Part 2 states “10 more points”. This could be interpreted as 10 more than Part 1.)
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ITEM F SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoiInT: 4

Part1 Points
“No”

Correct answer with Examples:

correct explanation: Using quiz 1: 89+74+82+90+80 1
Using quiz 2: 84+79+82+90+80
Both sums 415, mean 415+5=83

Part 2 Points

“mean grade will change by 2 points”
(from Part 1, 84+74+82+90+80, 410+5=82), 3
84+10, 94+74+82+90+80, 420+-5=84, 84-82=2

Correct answer with
correct procedure:

Total Points 4
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ITEM F SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I

Scork PoiInT: 3

Part 1 Points
“no”
Correct answer with “can score 5 more points on any test and the mean still be the same” 1
correct explanation: Example:
Table shows all 5 possibilities all with mean 83.

Part 2 Points
Incorrect answer, due to “change by 1 point ... 83 instead of 82”

calculation error, with 84+74-+82+90+80, 410+5=82, 2
correct procedure: 90+10=100, 84+74+82+100+80=420, 420+5=83 (calc error)

Total Points 3
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ITEM F SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

ScoRE PoOINT: 2

Part 1 Points
o . Example:

Missing answer with 84+74+82+490+80-410 :
incomplete explanation: 410+5=415. 41 5+5=83’
Part 2 Points
Missing answer with (from Part 1, 84+74+82+90+80=410, 410+5=82), >
correct procedure: 84+74+82+90+80=410, 410+10=420, 420+-5=84

Total Points 2

14 &

F2 16

10 190

1% &
qio p 4
&9 YGis
i3
o3
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ITEM F SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA I
|

Scork PoinT: 1

Part 1 Points
Correct answer with “No”
. . “because 5 points is not that much”. Shows one example = 5 points
incorrect explanation: .
added to Quiz 5.
Part 2 Points
“2 pt difference”

Correct answer with
incomplete procedure for both
means:

Division by 5 not shown.
84+74+82+90+80=82
84+74+82+90+(80+10)=84

Total Points 1

(O s et

+9d 14
e B {7
+90 10
4 %6 g0 45

S —— ———
{Lzmean B57Mhew

@D 64 g4
44 ‘;"z _ -
\ ¥4 b .
22 0 +\0 Qa —
% &4 -(7 _ |
b?‘ u.)!\\ aéd G zp§ é‘«('*n‘f kA
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ITEM F SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoinT: 0

Part1 Points
Incorrect answer with “Yes”
incorrect explanation: “test 2 is his lowest grade”
Part 2 Points
Incorrect answer with “increase 10 points more”
Incorrect procedure: 84+74+82+90+80=410, 410+-5=82, 82+10=92 (incorrect procedure).

Total Points 0

WD VYeo because
}est 2 To the

|owesY grade

he get 209
0675 Wil

1Ncredse DBuR’S
Quiz. grades.

?)zw

A1 [213]4]5]¢
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I+ Wil Snerese 10 ofs more BB mare ol
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ITEM G—2012 ALGEBRA |

_____________________________________________________________________________________________________________________________|
G. Use the quadratic equation below to answer the following questions.
y=x*—2x-8
1. Express the equation in factored form.

2. For which values of x does the equation equal zero?

3. Copy the table below in your answer document. Complete the table.

X y

4.  Using the grid provided, sketch a graph of this equation. Use all appropriate graphing techniques.

BE SURE TO LABEL YOUR RESPONSES 1, 2, 3, AND 4.

Item G Scoring Rubric—2012 Algebra I

Score | Description
4 The student earns 5 points. The response contains no incorrect work.
3 The student earns 3% — 4% points.
2 The student earns 2 — 3 points.
1 The student earns %2 — 1% points, or some minimal understanding is shown.
0 The student earns 0 points. No understanding is shown.
B Blank — Nq Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)
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ITEM G SoLUTION AND SCORING—2012 ALGEBRA [
|

SOLUTION AND SCORING

5 points possible:

1 point possible:

1 point: Correct equation: y = (x+2)(x—4)
OR
Y point: 2 correct factors: (x +2) and (x—4)

k)

Give credit for expression ‘(x+2)(x-4)’ or expression ‘(x-4)(x+2)’.

1 point possible:

1 point: 2 correct values: —2 and 4
(with no incorrect values included)
(or correct values based on an incorrectly factored quadratic
equation in Part 1)

OR

Y, point: 1 correct value (with no incorrect values included)

1 point possible:

1 point: Correct and complete table, as shown below:
(or correct values based on an incorrect quadratic
equation in Part 1)
(5 correct values for y.)
x y
20
-1 -5
0 -8
1 -9
2 -8
OR
Y5 point: Partially correct table with 4 correct values for y
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ITEM G SoLUTION AND SCORING—2012 ALGEBRA [
|

Part Points
4 2 points possible:
2 points: Correct and complete parabolic graph, as shown below:
Graph may be based on Parts 1,2,3.
y
A
1T, f
T /
-
\ [, |
—-5
L
\ 1, /
[ |
< \ > X
—9—8—7—6—5—4—3—\2—11 123 #3567 89
LA
\[ /
—4 /
—5 /
: /
-8
-9
Y
OR
12 points: A partially correct parabolic graph with one error:
Ex: Missing arrows on the parabola
Ex: One point plotted incorrectly
Ex: Inconsistent intervals on one axis
OR
1 point: A partially correct parabolic graph with two errors:
Ex: One point plotted incorrectly and inconsistent intervals
on one axis.
or
A non-parabolic graph with the Part 3 table points correctly plotted
and with the points connected.
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ITEM G SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1

Scork PoiInT: 4

Part 1 Points

‘ Correct equation: | y = (x-4)(x+2) 1

Part 2 Points

‘ 2 correct answers: | x=4,x=-2 1

Part 3 Points

‘ Correct table: | y values 0,-5,-8,-9,-8 1

Part 4 Points

) Intercepts (-2,0), (0,-8), (4,0), and points (-1,-5), (1,-9), (2,-8).

Correct graph: Default intervals ok. Arrows. 2

Total Points 5
a
& el ;

g 6«4)(-!*2)

@ g x13-9 r
x=4 4,9

® | ' X
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ITEM G SAMPLE RESPONSES AND ANNOTATIONS—2(012 ALGEBRA I

Scork PoiInT: 3

Part 1 Points
’ Correct equation: ‘ y = (x-4)(x+2) 1
Part 2 Points

“The values of x are -2, -6.”

Incorrect answer: . .
No credit for one correct and one incorrect value.

Part 3 Points

Correct table: y values 0,-5,-8,-9,-8 1

Part 4 Points
. Intercepts (-2,0), (0,-8), (4,0), and points (-1,-5), (1,-9), (2,-8).

Correct graph: Consistent intervals and arrows included. 2

Total Points 4

1 y=lx-U)ix+2) -

y=x-2x-§ 42
y= (x-4) (x+2)

2. The Values OF ¥ L x
are -2,-o.

- z/-{,

22>~ 2l)-
5 oir

.15

E=E 8
= a
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ITEM G SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

ScoRE PoOINT: 2

Part 1 Points
‘ Correct equation: | y = (x-4)(x+2) 1
Part 2 Points
1 correct answer: Xisdyis0— yes— Va
One correct value is given as an answer.
Part 3 Points
Correct table: y values 0,-5,-8,-9,-8 1
Part 4 Points

Tncorrect graph: 4 points are plotted correctly but parabola is not drawn. Point (-2,-1) )
18 1ncorrect.

Total Points 2%

Qy= 88 ]
(= bl

et
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ITEM G SAMPLE RESPONSES AND ANNOTATIONS—2(012 ALGEBRA I
|

Scork PoinT: 1

Part 1 Points
| Correct factors: ‘ (x-4)(x+2) Ya
Part 2 Points
| Missing answers: ‘ Checks value -2: (-2)>-2(-2)-8=0 but doesn't state an answer. -
Part3 Points
| Correct table: ‘ y values 0,-5,-8,-9,-8 1
Part 4 Points
| Incorrect graph: ‘ Plots points but does not draw graph. Intervals are inconsistent. -
Total Points 1%

® 8
(,1:)(& Xg v 3

X-9OYx+2))

Ofr-2y-5:0 H-

Srarmyl

a o'
-\ -§
0 .1 =B_

I -9
i_ 7 -3 J 2
) T-U=D-%= 5
oL 2ls ) bs+%

L B
\11 -zzcz)~%‘ -3 @
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ITEM G SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoinT: 0

Part 1 Points
‘ Incorrect equation: ‘ Repeats equation from the prompt. -
Part 2 Points

‘ Incorrect answer: “nun of the equations equal zero...” -

Part 3 Points
‘ Incorrect table: | All of the y values are incorrect. -
Part 4 Points

Inverted x-axis. The plotted points are not the expected and are not
Incorrect graph: -
from Part 3.

Total Points 0

,) y= X%’Qx.g -

2) OQun of t
Qe ons ot ;
Zefo L
Of e, o im 13

% QQ)ADBMV ~+ i z3un :

]
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:
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ITEM H—2012 ALGEBRA |

H. Meg paid $26.00 for 2 books and 2 games.
Meg’s sister paid $28.00 for 4 books and 1 game.
Each book cost the same amount. Each game cost the same amount.
1. Write two equations that represent the situation stated above. Remember to define your variables.

2. Solve your system of equations from Part 1 using elimination or substitution. Show all of your work
or explain how you found your answer.

3. Tyrone wants to buy 3 books and 2 games. What would be the total cost? Show all of your work or
explain how you found your answer.

BE SURE TO LABEL YOUR RESPONSES 1, 2, AND 3.

Item H Scoring Rubric—2012 Algebra I

Score | Description

The student earns 4 points. The response contains no incorrect work.
The label of “$” is included with Part 3 answer.

The student earns 3 — 3% points.
The student earns 2 — 2% points.

The student earns '% — 1% points, or some minimal understanding is shown.

The student earns 0 points. No understanding is shown.

Blank — No Response. A score of “B” will be reported as “NA.” (No attempt to answer the item. Score
of “0” is assigned for the item.)

W o= |N|w| &
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ITEM H SoLUTION AND SCORING—2012 ALGEBRA [

SOLUTION AND SCORING

4 points possible:

Part Points

1 1 point possible:
1 point: Correct and Complete Answer:
2 correct equations with variables defined
Give credit for the following or equivalent:
° x = cost of a book
y = cost of a game
2x+2y =126
4x+1y =128
OR
Y point: Incomplete Answer:
° 2 correct equations
Variables are not defined
or
° 1 equation is correct
1 equation is missing or incorrect due to a copy error
Variables are defined
2 2 points possible:
2 points: Correct solution: x=5 and y=38

(or correct solution based on incorrect linear equation(s) in Part 1)
Correct procedure shown and/or explained
Give credit for the following or equivalent:

° Using Elimination:
2[26=2x+2y] — 52=4x+4y
52=4x+4y
—(28=4x+y)
24 = 3y
8=y x: 26 =2x+2(8)
10 =2x
S=x
° Using Substitution:
2x=26-2y
x=13-y
28=4(13-y)+y
28=52-4y+y
3y=24
y=28
26 =2x+2(8)
10=2x
S=x
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ITEM H SOLUTION AND SCORING—2012 ALGEBRA I
I

Part Points

OR

1 point: ° Correct solution: x=5 and y=38
Work is incomplete or missing

or

° Solution is incorrect due to 1 calculation or copy error
Correct procedure is shown and/or explained

3 1 point possible:

1 point: Correct cost: $31.00
(or correct cost based on incorrect x and/or y values in Part 2)
Correct procedure is shown and/or explained
Give credit for the following or equivalent:

. 3(85.00) + 2($8.00) = $31.00

OR

Y point: ° Correct cost: $31.00
Work is incomplete or missing

or

° Cost is incorrect due to 1 calculation, copy or rounding error
Correct procedure is shown and/or explained
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ITEM H SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoinT: 4

Part 1 Points
2b+2g=26.00

Correct answer: 4b+g=28.00 1
b=books, g=games

Part 2 Points
g=8 b=5
Correct solution with Substitutes variable b >
correct procedure: b=(13-g)
4(13-g) + g=28 etc...

Part 3 Points
Correct answer with $31.00 1
correct procedure: 3e5+28

Total Points 4

O b= beoks

%wc
Zb4—23—2(' i
le{-ﬁ-: 28 .00 3=

L= 4308 ++
@%Wfo Lo V5,00
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et
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N
Aliz-)r o - 2% _
Q""%* = 2€ By
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ITEM H SAMPLE RESPONSES AND ANNOTATIONS—2(012 ALGEBRA I
|

Scork PoInT: 3

Part 1 Points
2b+2g =$26.00

Correct answer: 4b+1g = $28.00 1
b=cost of books, g=cost of games

Part 2 Points
Correct solution with b=$5.00, g=$8.00 1
insufficient procedure: “I used my calculator”

Part 3 Points
Correct answer with $31.00 1
correct procedure: 3x5+ 2x8

Total Points 3

0

2b+2;'f9(26'00 ¥ : { J
__/\H :

ub+\s -_\u.ou 1

b‘:.a)#a‘ books A
99 cobtoF gprne S +F
—

/‘2\ J \,LS'C & my &lulato-

b‘«%.DO oa,:k{ 8]

———}
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ITEM H SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

ScoRE PoOINT: 2

Part1 Points
C=2y+2x
Incorrect answer: C=dy+x -
' C=cost, y=books, x=games
Need to show $26 and $28.
Part 2 Points
8=x, 5=y
Correct solution with Eliminates variable y, solves for x
2
correct procedure: 28 = 4y +x
-52 =-4y —4xetc...
Part3 Points
Incorrect answer, due to Cc=21
calculation error, with 3(5) +2(8) Va
correct procedure: 15+16=21 (calc err)
Total Points 2%

| G
¥ b

¥ s

é=.2y*1)‘ Meyy
| 69 "'y*)' S(,Jlf
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ITEM H SAMPLE RESPONSES AND ANNOTATIONS—2(012 ALGEBRA I
|

Scork PoinT: 1

Part 1 Points
Incorrect answer: Y=2X+26
) Y =4X+28
Part 2 Points
Incorrect solution with X=-13 X=-7
incorrect procedure: Sets Y=0 and solves each equation separately.
Part3 Points
Correct answer with $31
correct procedure: Expected values $5 per book and $8 per game. 1
P ' 3 books=$15, 2 games=$16, 16+15
Total Points 1
@ r=24128
= Hx+ 18
D 1= U426

Y pef bR Y2 per mj
2 book$ and 2.90Mes YEpeigome

3bocks Y5
2 5a,nc3:¥6 3’6%’:!!2/
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ITEM H SAMPLE RESPONSES AND ANNOTATIONS—2012 ALGEBRA 1
|

Scork PoinT: 0

Part 1 Points

2b+2g = $26.00
Incorrect answer: o -
4b + 1 =28.00 (missing the g)

Part 2 Points

Missing solution with
missing procedure:

Part 3 Points

Incorrect answer with

S 38.00 -
missing procedure:

Total Points 0

/.zb;zas‘zc.m
4b 31 =23.00

y
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